State Coordinate Grid Puzzle Solutions

Prairie State

Draw the state of .

Follow the dinections below to deaw 3 ¥tase on this ged
1 Draw 3 line to conmect { 9, 10 ) with ¢ 3, 10)
2. Commmct( —35 19) wth { O, %)

3. Commect( © 9) wih (4, 9)

4 Commect( 4, 9) winh (7, §)

s Conmmct( 7, 8) with (3, 7).

6 Conmect{ ), 7). weh { 1, 4)

7. Conmect{ 1, &) wih (1, 2)

£ Commett( ), 2)with (O, 1) x
L Connect( O, 1) with (O, —3).

10, Conmect(0, —3) with {5, —6)

n Conmect( 5, ~8) with (5, -9)

12, Conmect{ 5, ~9) with (-8, ~9)

15 Commect{~8, ~9) with (& ~4)

14, Conmect(—8, —4) with (-9, ~2)

5 Conaect{ —9, —~2) with |

L)
16. Consect{ -8, 1) with (-8 %)

17. Consect( 8, S) wih (-9, 7)

18, Comsect( 9 7)weh ( ~9 19)

19, Whae wtate b thin?

Great State

Lone State

Draw the state of ...

Folion the drections below 15 draw 3 state on this grid.

1 Ovaw abnetoconsect [ 00, 7 ) with { 6 19)
2 Consect( —6, 10) with ( -7, §)

3

Consect( 7, 8) wih ( ~$ $)

. Consect( 5, ) wen ( —2, 9)
s Consect ( —2, #) weh ( —2, 82
6 Comeect( —2, B). with { O, §) x

7. Comsect( 0, 8) wah {1, 7).

L Consect( 1, 7) wih { ~4. T)

L] Comsect( ~4, 7) wih (=7, §)
19, Comsect( —7, S)weh { —10, 7)
Pick up your pencil. Start sgein at (1, 6).
1. Comeect( 1, 6) with{ -2, 61
12, Comsect( 2 6) with (~2. $)
13, Comsect( 2. §) with (5, 4)

Draw the state of ..

Foliow the drections below 10 Sraw 2 state on thin grid.
1 Otw & bre 92 conect ( 2, 7 ) with (2, <10)
2 Comsect( 2, —~10) wih ( —2, ~5)

L] Comsect( —2, ~5) with ( 3, —2)

. Comsect( ~3, $. =2

6, ~3)
Conssect( 4, ~5) with ( <10, 2).

Comsect( —4, ) with (—4, 10) x

s
6
7. Conssect( —10, 2) with ( —4, 2)
4
L]

Consect( ~4, 10) wih ( O, 10)
0, 10) wiN( &, %)
0, SHheh (8 4)
12. Comsect( & 4)weh (9 1)
L Mrweh (7, —4)
P.oo4) wih (4, 5D

15, Comsect( 4, ~5) wh (2, <7

What weate s thin?

14, Comsect(—%, 4) with (6, 1). 15, Conmect{~6. 1) wih (-6 ~1)
6. Comeact(—6, —1) wth (-5 -3 17, Comsetr( S, ~3) wmh ( 7
16 Commect( 7, «7) with (O ~7) 19, Conmect{O —7) weh (2, ~5)
200 Commect(2. ~5) wah (2, 2) 20, Conmect(2, 2) weh (0,
2. Conmmci(0, —1) weh (0, 0) 2). Coneect{0, 0) wth (1, 2)
24 Commect(1, 2) with (1, 4) 25, Comeect{ ). &) wah (=), 6)
26 What state s that — S —
Desert State
Oriw the state of ... "
Follow The dwatinns Dol 10 Gire 3 S1ae 00 TN g T T 1rrTrTt + + +—t
| W S . - et
I v 1 >—+
1. Drawaline to connect { —8, 10 ) with ( & 10 o | |-
2. Cormect( 8, 10) with ( &, —6) ' 11
3. Conmect( 8, —6)with {1, —§) .. 4
4 Coemact (—1, —6) wath(—1, =7 ). I | 11
3. Coemect(—1, —7) with (~5, —7) x ] ‘ -
6. Coemect {—35, —7) wth (-5, —B) "} TT1
7. Coemect (—3, —9) with (—& —9) + 11—t
& Commact (8, —9) with (—4&, 10} ': | : :
- T .
. 8 f——t————1—
2 L L1 ] ——— i 11 i |
» l l
)




Port State Two Flipped States

Draw the state of _.... Draw the states of

Folow The Grections elow 10 Graw 3 S1ale 40 NS grid. Y Mere are 2 adjoining states. Deaw them on this grid

' Drave 2 Wne 2o conmect ( 2, ~7 ) wih (2, —6) OO0 EDE o "* ] T T T | | 5 Dvaw 2 lne 5o connect ( 0, 10 ) wins (7, 10),

2 Conmecti 2, <6) wah { <2, <2} e 2. Commect( 7, 10) wah ¢ &, 2.

3. Commect{ —2, ~2) whh ( —10, —2) 4 * | R SENEEEE 3. Conmecti § 2) whh (9, 0)

4. Conmect{ —10, —2) with ( =10, —1) \ 1 | 1 ] 11 1 1 4. Commct{ 9 0) with (9, —2)

S, Conmecti =10, —1) wih ( ~8, 0) :‘ I : .'I AR ! 1 S, Conmect{ 9 —2) wah { & ~3)

[} Conmect{ 8, 0) with { -8 1) ™1 ; ™1 ™1 111 1 6. Cormect( 8, ~3) wih { & -7)

7. Connect{ —8 1) weh ( —7, 2). | TP 7. Commect( §, —7) wth {1, —7)

5. Commect{ ~7.2) weh (—4, 2) X - ‘ X S Commect( ), —7) wh (1, —9) x

9. Commect{ 4 2) with (-3, 3) ' | ‘ 9. Commect( ), ~9) with ( ~), -9}

10, Commect( 3. 3) with{ —3, 51 Ll 1] 10, Commect ( 1, <) with { —3, ~9)

1, Commect( —3 5) with (0, 8) bt 1 1. Comsect ( —5, ~9) with ( —5, 7}

12, Commer( @, 8) wih (3, 8) T T ; | 12, Comsect( —5, —7) weh { 9, ~7)

15, Commect( 3, B) wah (5 7). +—t 13, Commect( 9, ~7) wah ( -8 ~2)

14, Commect( ), —7) wth (2, —7) | : T 14, Commect( —8, —2) with { 8, 1)
11 I 15. Cossect( —& 3) wth { —6, 10)

RAwyowr pad Sarnagaion( 3, =7) 16, Cossect( —6, 10) weh ( 0, 10) Y

15, Commect( 3, —8) with (7, —6). 15 27, . Conetat 6, 10) b (=3

17, Commect( 7, ~7) with (3, ~9) 15 Comect( 5. ~9) wih (3. %) 18 Comaect { =1, —4) with { —1, =)

Whatwease thY Wt state b thisY

Two Old States

Draw the states of ...

Toliom the directions below to draw two states on this grid Y

1. Startweadota (6, 8) ————

2 Dvare a hoe 10 Connact (6, 8) with ¢ 8,100 FTrirri 171

3. Drawalbeetocosnect( 8, 10) weh { 9, 10) | : : . : : r

“ Commet( 9 10) wih [ 9. -5 .. v

5. Conmect( 9. —3) weh (10, —6) 11111 T

6 Connet( 10, —6) win ( 10, ~8) T |

7. Conmect( 10, ~8) with ( 8, —10). EEEEES" /NS

5 Conmect({ & —10) with ( 3, ~10) 1 T T T 17T

9 Commecti-3, —10) wh ( —3, —4). X s IENENE NN X

o Conmct{ —B, —4) wih [ ~4, ~4) —t—t—t—a——— -—

1. Commect( —& —~4) wih ( —4, 2) 1 "’"T 1 T

12, Conmect{ —4, 2) wah { —, 1) 1 1111

13, Conmct( ~3 3) wah { -3, 72 NN RN

14, Commect( —3, 7) wth { ~2. 1 1t "

15, Commectt <2, 8) wah (& | NN N :

16 Commect( 6, §) w (6, 5) 1

17, Commect( 6, S) wm (S, 3) v

18 Commect( 5, 3) wh (4 1)

19, Commect( 4, ~1) wah (2, ~4)

20, Commect( 2, —4) wth (1, —10).

20, What states are hese? ——————————————




